mathrm a'N

©
bB000
=
IS
£8000
£
£5000
=
14600
15000
:
19000
or

o
8000

o
o
o

o
o
o

matkerm dgN / naath
o
o

p)

N

Ratio to CMS

0.5

13000 GeV pp Jets
I L L
- ! ISk
- Groomed LHA)\é_5 (charged only) (CMS jet substructure) 13
- S
— m CMS %N
~ - o Pythia 6.428 390 s
-8~ Pythia 6.428 391 —Z
C - - Pythia 6.428 392 2
~ -~ Pythia 6.428 396 s
— %~ Pythia 6.428 397 1=
—  ---¥-- Pythia 6.428 398 7
— —z
- A m by
- l” I3‘“\\ 1 8
— RN . ™
B /..Q’\\ ] ‘_i
| . T — >
L /.’.,:;@.\x\&\ ] %
: |‘_’1" ~®‘\&<‘\ : E.
B @” ‘o, & —H5
- \O\'Oﬁl.%\\. <
— ~\;}%\ -8
— P 12
- \Q\:::é\ —]0o
| ';:‘Sﬁ' ] 8
— =X g —1 &
E’_-_‘_-_F_-'_-_‘-_—_#_-_#_— l- ' | ‘-‘—-h::'ﬁ}‘—‘l"-'as-a* | l:
— —2
1
| —0.5
l . l . l
0 0.5 1

groomed LHA (charged-only)



	Contents
	Page 1


